
1. Formulas

Note: constants of integration are omitted
∫

sec2 x dx = tan x∫
csc2 x dx = − cot x∫
sec x tan x dx = sec x∫
csc x cot x dx = − csc x∫
sec x dx = ln | sec x + tan x|∫
csc x dx = ln | csc x − cot x|∫
tan x dx = ln | sec x|∫
cot x dx = ln | sin x|∫
dx/(x2 + a2) = (1/a) tan−1(x/a)∫
∞

1
1/xp converges if p > 1 diverges otherwise√

a2 − x2 use a sin θ − π/2 ≤ θ ≤ π/2√
a2 + x2 use a tan θ − π/2 ≤ θ ≤ π/2√
x2 − a2 use a sec θ 0 ≤ θ ≤ π/2

sin A cos B = 1
2
[sin(A − B) + sin(A + B)]

sin A sin B = 1
2
[cos(A − B) − cos(A + B)]

cos A cos B = 1
2
[cos(A − B) + cos(A + B)]

cos2 θ = 1
2
[1 + cos 2θ]

sin2 θ = 1
2
[1 − cos 2θ]

|ES| ≤ K(b − a)5/180n4 where |f (4)(x)| ≤ K for a ≤ x ≤ b
|ET | ≤ K(b − a)3/12n2 where |f ′′(x)| ≤ K for a ≤ x ≤ b
|EM | ≤ K(b − a)3/24n2 where |f ′′(x)| ≤ K for a ≤ x ≤ b
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